Newton’s Third Law


Newton’s Third Law states that for every action, there’s an equal but opposite reaction.  Seems simple enough, BUT it is possibly the most misunderstood of Newton’s three laws of motion.  

What It REALLY Means:  Whenever an object exerts a force on a second object, the second object exerts an equal (in magnitude) but opposite (in direction) force back on the first object.   The action/reaction pair of forces are NOT considered balanced because the forces act on different objects.  See if you can correctly apply this to the following:

	Scenario
	Action Force
	Reaction Force
	Right or Wrong
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Man standing on floor


	Gravity Pulls Man Down
	Floor Pushes Up on Man
	Right
	Wrong

	
	Earth Pulls Man Down
	Man Pulls Earth Up
	Right
	Wrong

	
	Man Pushes on Floor
	Floor Pushes Up on Man
	Right
	Wrong


	Scenario
	Action Force
	Reaction Force
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	Ball pushes glove backwards
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	Bowling ball pushes pin leftwards
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	Rocket pushes gas backwards
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	Rotating tires push backward on road.
	


